Verbal Intelligence Test — 4

If all fish can walk, then trout can:

A. sing

B. walk

C. dance

D. fly

Choose the word that does not belong

A. carry

B. load

C. fill

D. pack

If the postal charges for a package are 62 cents for the first
five ounces and 8 cents for each additional ounce, what is
the weight of a package for which the charges are $1.66?
(Assume there are 16 ounces in one pound)

A. One pound 9 ounces

B. One pound 1 ounces

C. One pound 12.5 ounces

D. One pound 2 ounces

30, 24, 19, 15, ....

A. 13

B. 11

C.12

D. 10

1.63, 2.61, 3.59, ......

A. 2.63

B. 3.69

C. 4.68

D. 4.57

What is the average of positive integers from 1 to 100
inclusive?

A. 49

B. 50.5

C.50

D. 49.5
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f the postal charges for a package are 62 cents for the first
five ounces and 8 cents for each additional ounce, what is
the weight of a package for which the charges are $1.66?
(Assume there are 16 ounces in one pound)

A. 1.05 pounds

B. 1.125 pounds

C. 1.1 pounds

D. 1.25 pounds

Write the number of the subject which is dissimilar from
the other subjects?

A. Teacher

B. Student

C. Headmaster

D. Professor

30.1,40.2,50.3, .........

A.60.4

B. 80.8

C. 60.3

D. 70.3

1/2 +1/4

A. 5/6

B. 4/5

C.3/4

D. 1/4

The word, "mineral," can be spelled leaving three letters
found in the word?

A. Account

B. Bandwidth

C. parliament

D. Information

0.57, 0.6, 0.56, 6, 0.55...

A. 0.58

B. 0.54

C.0.59

D.6

If you start from point A and walk 5 miles towards the
west, then turn right and walk 4 miles towards the north,



14,

15,

16.

17,

18.

then turn right again and walk 3 miles, then which choices
mentions the direction in which you are going?

A. West

B. South

C. West

D. East

These words can be arranged to form a sentence. Is this
sentence true or false : is milk cold always.

A. false

B. true

0.1,0,-0.1, ...

A.0.2

B.0.4

C.0.3

D. -0.2

For developing pictures, XYZ Photo Lab charges a service
fee of $3 for every order it receives in addition to a
printing fee. If the order consists of 12 pictures or less, the
printing fee per picture is $0.36. If the order consists of
more than 12 pictures, the printing fee per picture is $0.24.
What is the total cost per picture for an order consisting of
30 pictures?

A. $0.34

hat fraction of two weeks is 24 minutes?
A. 1/336

B. 1/120

C. 1/2880

D. 1/840
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The word, "slackers," is spelled by using the first letter of
each word in the following sentence: "Silent large
anteaters calmly kiss each roasted snack."

A. True

B. False

0.99, 1.99, 0.66, 1.66, 0.33........

A.1.00

B. 1.33

C. 033

D. 0.00
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Aslam has 4 times as many books as Salman and 5 times
as many as Javed. If Javed has more than 43 books, what
IS the least number of books that Aslam could have?

A. 205

B. 220

C. 200

D. 210

Ali has only forty-eight dollars, and he can buy a bicycle
that costs one hundred ten dollars if?

A. he borrows fifty-two dollars from Mac and fifteen
dollars from Jadi.

B. he borrows fifty-four dollars from Mac and eight
dollars from Jadi.

C. he borrows fifty-six dollars from Mac and eighteen
dollars from Jadi.

D. he borrows fifty-nine dollars from Mac and thirteen
dollars from Jadi.

1.2,25,3.9,54, ...

A.7.2

B.7

C.6.9

D.7.1
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C. massage

D. tap

The moon is to the earth, as the earth is to:
A. space

B. the sun

C. Venus

D. satellites

D. 15

Find the five-digit number of which the last digit is three
less than the fourth, the fourth is one less than the third,
the third is three less than the second, and the second is
twice the fourth and one less than the first. The sum of all
of the digits is 27.

A. 54890

B. 98541

C. 87654

D. 98765

Choose the word that does not belong.

A. lottery

B. past

C. race
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I\VV/19 the two numbers, whose sum is -13 and product -30,
are?

A.-3,-13

B.-2,-15

C.-3,10

D. 2,-15

5 years ago, khalid was 10 years older then ali. What is the
difference between their ages at present?

A. 15

B. 10

C. None is correct

C. electric

D. rocking

Choose the word that does not belong
A. group

B. team

C. band

D. nation



39.

40.

41.

42.

43.

44,

N OO
~ o

X oo
c
O

S=zzZr ™

wo ducks and two dogs have a total of ------- legs.
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December is the busiest month at Lamont's Gift Shoppe,
where sales in December are 40 percent higher than
average. If sales in February are typically 20 percent lower
than average, what is the ratio of February sales to
December sales?

A. 4.7

B. 4.5

C.6:7

D.5:8

Settlement is to injury as pension is to --------------

A. pensioner

B. retirement

C. maturity

D. age

The average of five numbers is 34. If three of the numbers
are 28, 30 and 32, what is the average of the other two?
A. 60

B. 40

C. 80

D. 50

8x1+8/4=

A.8
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0.10, 0.01, 0.100, 0.001,
A 4

B.0.2

C. 0.1000

D. 0.0001
2.67,1.67,0.67, ......
A. -3.67

B. -0.67

C.-0.33

D. -1.67

0.1, 0.01, 0.001, .....
A. 0.000001

B. 0.0001

C. 0.00001

D. 0.02

A boat always has:
A. weight

B. sails

C. aluminium

D. fish

Choose the word that does not belong

A. spoon
B. bowl
C. Tree
D. cup

If you rearrange the letters "RAPIS", you would have the

name of a:
A.CITY

B. OCEAN

C. COUNTRY
D. ANIMAL
1.9,2.2,25, ...
A.2.8

B.2.8

C.29

D. 2.7
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Susan is having a party. At 7:00 P.M., guests begin
arriving at a uniform rate of 8 people every 15 minutes. If
this pattern continues, how many guests will have arrived
by 9:30 P.M.?

A. 20

A. satellites

B. the sun

C. space

D. Venus
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0.5,15,3.5,65.......
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27.95, 26.90, 25.80, 24.65, ..........

A. 23.45

B. 225

C. 23.55

D. 24.60

Choose the word that does not belong.
A. speed

B. fast

C. rocking

D. swift

Choose the word or number that does not belong
A. fingers

B. feet

C. toes

D. dime

Water is to pump as blood is to ----------
A. vein

B. heart

C. artery

D. flow

Court is to judge as classroom is to ---------------
A. teacher

B. pupil

C. school

D. learning

if YCVGTmeansWATERthenwhatdoesHK TG
mean?

A. Help

B. Kids

C. Bomb

D. Fire

27 minutes before 7 o'clock is?

A. 33 minutes past 6 o'clock.

B. 33 minutes past 8 o'clock.

C. 27 minutes past 6 o'clock.

D. 33 minutes past 5 o'clock.
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Two integers have a sum of 42 and a difference of 22. The
greater of the two integers is?

A. 32

B. 25

C.28

D. 31

Cindy wants to paint her office. She can buy three cans of
the same-priced paint and three identical brushes for $21,
or she can buy four cans of the same paint and one brush
for $22. How much does a can of paint cost?

A. $4

B. $3

C.$5

Identify the relationship between the word groups in the
question. Select the answer which fits best with the group.
Wool, silk, leather

A. fur

B. linen
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Aslam is now 3 times as old as Javed, but 5 years ago, he
was 5 times as Javed was. How old is Aslam now?

A. 12

B. 36

C.30

D. 24

Each of Steve's buckets has a capacity of 11 gallons, while
each of Mark's buckets can hold 8 gallons. How much
more water in gallons can 7 of Steve's bucket's hold
compared to 7 of Mark's buckets?

A. 24

B. 21

C.56

D.7

If written backwards, the number, "one thousand, three
hundred twenty-five," would be written?

A. 11352

B. 3252

C. 5232

D. 52311

This sequence of four words, "triangle, glove, clock,
bicycle," corresponds to this sequence of numbers?
A."3,5,2,12."

B."3,5,2,2"

C."3,5,3,12."

D."3,4,2,12."

1.3,2.6,5.2, ....

A.11.3

B. 10.6

C.104

D.9.4

1/2 -1/4 =

A. 2/3

B. 1/4

C. 3/4

D. 1/8
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achine is to mechanic as patient is to ----------------
hospital

B. doctor

C. ward

D. disease

Two of the following numbers add up to?
1,6,3,5,11

A.
B.
C.
D.
M
A.

make a file. How much does a file cost?

A.$10

B.$50

C.$20

D. $40

1.25,0.75, 1, 0.5, 0.75, .....

A. 0.25

B.0.5

C.0.55

D. 0.75

These words can be arranged to form a sentence. If the
sentence is true, Select on true; if false, Select false: are
clouds white always.
A. false

B. true
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A restaurant has a special whereby both parents can eat for
$20 and each child can eat for $5. Assuming a family
group consists of both parents and at least one child, what
IS the maximum number of family groups that could have
attended given that the restaurant took $115?

A.3

B.5

C. 4

D.6

A round wall clock that has been rotated until it is hanging
upside down will have its minute hand that points to your
right when it is?

A. eleven forty-five

B. two fifteen

C. two forty-five

D. eight forty-five

What fraction of 24 hours is 30 minutes?

A. 1/48

B. 1/12

C. 1/30

D. 1/24

3.1,5.3,4.2,6.4,53, ...

A.75

B.7.3

C.6.5

D. 4.2

0.1,1.1,2.2, ...

A.1.25

B. 125

C.0.125

D. 3.3

Choose the word that does not belong

A. roof

B. wall

C. floor

D. chair
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It takes 3 minutes to boil an egg. How much time will it

take to boil 6 eggs together?
A.3

B. 18

C.6

D.9

0.80, 0.63,0.48, .....
A.0.33

B. 0.35

C.0.39

D.0.34
0.81,0.64,0.49, ......
A.0.25

B. 16

C.0.36

D. 0.49

See is to look as feel is to -----------------
A. nerve

B. sense

C. touch

D. hand

Choose the word that does not belong.
A. race

B. lottery

C. future

D. game

3.6,4.8,6,7.2.....

A.8.2

B.8.4

C.6.6

D. 8.8

0.01, 0.02, 0.04, 0.16, ...........
A.0.03

B. 0.9

C.0.08

D. 0.64

8 is what percent of the 6?
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A. 133.333

B. 125

C. 120

D. 135.324

Nib is to pen as lens is to -----------------
A. seeing

B. glass

C. telescope

D. focus

Paper is to tree as glass is to ---------------
A. stone

B. clear

D.C

Select the correct answer. Do not use a calculator.
33.6+87="7

A.42.3

B. 43.7

C.425

D. 43.3

Brine is to salt, as punch is to:

A. hit

B. sugar

C. Judy

D. water

How far can a man run in 6 minutes if he runs one third as
fast as a car going 30 miles per hour?

A. 1.67 miles
B. 3 miles

C. 60 miles
D. 1mile

80, 40, 20, 10, 5, ....
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